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risag i et . 1RAR Az risag i et . 1RAR Az

HDCPLPE : B4 : 36 &2/% : 36 =7 : 36 B % 156 A HDCPLBE : B4 :36 &2/% : 36 =7 : 36 B % 156 A

ng/?—JJtl: F;AUR;(ZCD@®©® %:)L_&L lgi ng/?_J}tI: F;AUR;(ZCD@®©® %:)L_&L lgi
IN OOB@D® it . 172 A IN OOB@OD® it 172 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

255 A —Ih 39 38 77 8.4 68.6 26 FE[E =(H 45 45 90 16.8 73.2

2 EMH 5 41 39 80 10.8 69.2 27 EXHZ 44 52 96 22.8 73.2

3 =S8R 41 38 79 9.6 69.4 28 4 5B 46 44 90 16.8 73.2

4 BAXFEAN 38 45 83 13.2 69.8 29 EHE— 46 43 89 15.6 73.4

5 {0 EEtk 48 46 94 24.0 70.0 30 {4 M5 47 42 89 15.6 73.4

6 =8 Rk 39 41 80 9.6 70.4 31 S & 48 47 95 21.6 73.4

7 e 803 41 45 86 15.6 70.4 32 A}XL EF 43 46 89 15.6 73.4

8 =illiF RN 41 49 90 19.2 70.8 33 B 1EXk 49 51 100 26.4 73.6

9 =8 —hk 42 48 90 19.2 70.8 34 {ffA EEB 49 51 100 26.4 73.6

10 R Rl 42 42 84 13.2 70.8 35 TAH a8+ 42 46 88 14.4 73.6

11 5k5 K8 45 43 88 16.8 71.2 36 HEED FE 46 41 87 13.2 73.8

12 HF $H5] 42 39 81 9.6 71.4 37 &#H EA 45 48 93 19.2 73.8

13 T E— 37 44 81 9.6 71.4 38 /)W I 43 38 81 7.2 73.8

14 = R£— 39 47 86 14.4 71.6 39 HEy =—EHp 42 45 87 13.2 73.8

15 Eifj f£ 48 44 92 20.4 71.6 40 EH T 42 44 86 12.0 74.0

16 & F 52 46 98 26.4 71.6 41 |l BT 45 53 98 24.0 74.0

17 HE f# 48 50 98 26.4 71.6 42 {ERAK BN 52 46 98 24.0 74.0

18 =E IEAM 43 42 85 13.2 71.8 43 AN 1Z 38 36 74 0.0 74.0

19 oA 1B5E 42 49 91 19.2 71.8 44 /)\ff FHIE 44 41 85 10.8 74.2

20 |1 KAl 41 38 79 7.2 71.8 45 L 1= 45 40 85 10.8 74.2

21 HE = 45 45 90 18.0 72.0 46 TR 1568 49 48 97 22.8 74.2

22 K & 47 43 90 18.0 72.0 47 &R 158 52 45 97 22.8 74.2

23 {FEE <7 41 42 83 10.8 72.2 48 Mify 1# 44 53 97 22.8 74.2

24 {0 &5 46 53 99 26.4 72.6 49 BER 155 49 48 97 22.8 74.2

25 KX foF 47 44 91 18.0 73.0 50 yith Bt 44 41 85 10.8 74.2
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Take oLy 8 SRR VD2 O

FEERR 24%2H118 (H) BEERR - 2482H118 (H)

HDCP;\JBE; %AIEXZBG 36227 :36 i :i 1?21 HDCP;\JBE; %Algxz% 36227 :36 i :i 1?21

BUR=)L: OUT @@G®®® 27 0A fELR—IL: OUT @@B®®® 27 0A
IN OOB@D® it . 172 A IN OOB@OD® it 172 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

51 jE[ 83 42 42 84 9.6 74.4 76 EEfE 1E5R 59 47 106 30.0 76.0

52 Gl #5¢ 50 46 9% 21.6 74.4 77 IR {78 49 45 94 18.0 76.0

53 ThE HE 38 52 90 15.6 74.4 78 SEH EEZ 55 51 106 30.0 76.0

54 HH ROKEP 51 50 101 26.4 74.6 79 &H s=i3 49 51 100 24.0 76.0

55 &HHY 55 41 41 82 7.2 74.8 80 Fa/R M— 42 46 88 12.0 76.0

56 oA {55k 56 44 100 25.2 74.8 81 |l f#KEB 48 51 99 22.8 76.2

57 & 5h— 50 50 100 25.2 74.8 82 it 1@F 51 48 99 22.8 76.2

58 FH Bk 52 47 99 24.0 75.0 83 H I #HpR 47 46 93 16.8 76.2

59 faK &5 47 40 87 12.0 75.0 84 BIEP HX 56 55 111 34.8 76.2

60 5H & 50 55 105 30.0 75.0 85 & K 52 58 110 33.6 76.4

61 HE EA 48 44 92 16.8 75.2 86 A K Riit 50 54 104 27.6 76.4

62 [MEY =— 43 43 86 10.8 75.2 87 X/ &t 55 49 104 27.6 76.4

63 1/ eS| 49 49 98 22.8 75.2 88 FALL iEXk 46 58 104 27.6 76.4

64 —H =T 48 43 91 15.6 75.4 89 KT 1A= 54 50 104 27.6 76.4

65 £t {53 42 43 85 9.6 75.4 90 H/F FE 51 46 97 20.4 76.6

66 In K jGHi 47 50 97 21.6 75.4 91 T 18X 53 50 103 26.4 76.6

67 trh B3 43 42 85 9.6 75.4 92 T XHE 47 49 96 19.2 76.8

68 |LIA j&— 45 45 90 14.4 75.6 93 fiE =% 50 52 102 25.2 76.8

69 mHH A 45 45 90 14.4 75.6 94 HELL JeiR, 47 49 96 19.2 76.8

70 1ER Jatet 49 47 96 20.4 75.6 95 S Bk 56 51 107 30.0 77.0

71 T/ BE 48 54 102 26.4 75.6 96 HIRE RF 52 54 106 28.8 77.2

72 FEPE 1EE 40 49 89 13.2 75.8 97 Ik # 51 55 106 28.8 77.2

73 15H &= 48 47 95 19.2 75.8 98 Alll BFE 53 46 99 21.6 77.4

74 KIR E# 51 56 107 31.2 75.8 99 S=it5 =4l 43 38 81 3.6 77.4

75 O & 52 49 101 25.2 75.8 100 {5fE MZ 53 46 99 21.6 77.4
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Take oLy 8 SRR VD2 O

FEERR 24%2H118 (H) BEERR - 2482H118 (H)

HDCP;\JBE; %AIEXZBG 36227 :36 i :i 1?21 HDCP;\JBE; %Algxz% 36227 :36 i :i 1?21

BUR=)L: OUT @@G®®® 27 0A fELR—IL: OUT @@B®®® 27 0A
IN OOB@D® it . 172 A IN OOB@OD® it 172 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

101 ¥fvER F= 44 42 86 8.4 77.6 126 #iik 1IE& 52 60 112 32.4 79.6

102 (L[] =8, 48 56 104 26.4 77.6 127 ARA K— 52 54 106 26.4 79.6

103 HE 2 43 49 92 14.4 77.6 128 37 F& 53 46 99 19.2 79.8

104 ERE 1F1E 47 45 92 14.4 77.6 129 tFfr IhiA 52 57 109 28.8 80.2

105 [~ EEENN 47 45 92 14.4 77.6 130545 ZX 49 60 109 28.8 80.2

106 5 ZF1T 48 49 97 19.2 77.8 131 =)|| HPH 60 53 113 32.4 80.6

107 & Kia 55 54 109 31.2 77.8 132 515 ER 53 54 107 26.4 80.6

108 &R K&k 45 46 91 13.2 77.8 133 518 ZEF 52 54 106 25.2 80.8

109 &K 131 46 45 91 13.2 77.8 134 $ifEH &7F 56 61 117 36.0 81.0

110 =K & 50 52 102 24.0 78.0 135 i FAk 49 62 111 30.0 81.0

111 fEH 54T 52 50 102 24.0 78.0 136 K% [BfT 54 55 109 27.6 81.4

1125FH EA 46 49 95 16.8 78.2 137 FIE Kl 53 61 114 32.4 81.6

11355 Z2 55 52 107 28.8 78.2 138 &K B 55 52 107 25.2 81.8

1147KE 3= 44 50 94 15.6 78.4 13918 1T 51 55 106 24.0 82.0

115 57 E— 48 52 100 21.6 78.4 140 X5 &= — 61 57 118 36.0 82.0

116 EH 5 50 55 105 26.4 78.6 141 NH {H 48 58 106 24.0 82.0

117 BElR 5T 59 51 110 31.2 78.8 142 i HEEk 54 64 118 36.0 82.0

118 it EiE 56 48 104 25.2 78.8 143 TRAR Fafiff 59 58 117 34.8 82.2

119 #EF ={H 58 52 110 31.2 78.8 144 )\= Fh5 47 52 99 16.8 82.2

120 H BEA 55 55 110 31.2 78.8 145 FH = 58 52 110 27.6 82.4

121 7R IX 49 54 103 24.0 79.0 146 gi)l| 5FE 59 51 110 27.6 82.4

122 &R Z=5/s 45 46 91 12.0 79.0 147 fEidE N — 59 49 108 25.2 82.8

123 #IH =B 50 53 103 24.0 79.0 148 1&7% 1Z= 50 58 108 25.2 82.8

124 RE i#5) 44 46 90 10.8 79.2 149 At+7E 2 59 60 119 36.0 83.0

125 (fE #Hh 48 47 95 15.6 79.4 150 Ik &5 58 61 119 36.0 83.0
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IoR4E: o147 —% IoR4: N7 —%
pHEERR : 24%2H118 (H) FEERR : 2482H118 (H)
FHAI-X: OUT 1IN BRERETSE @ v NIE fEAI-X: OUT 1IN BRERETSE @ v NIE
BRE - 9T WRUF B5EIEh . 1: 4988 SHIAE BRE - 9T WRUF B5Enr - 1:4F8H SHIAE
HDCPLPR : B4 : 36 &% : 36 =7 : 36 8B 14 156 A HDCPLPR : B4 : 36 &% : 36 =7 : 36 B 156 A
Hybk : PARX2 i & 16 A Hyb : PARX2 i & 16 A
EUhR—IL: OUT @@G®®O Uy oA EUhR—IL: OUT @@G®®O Uy oA
I N OdB@®HDIE it 172 A I N OdB®HDIE it 172 A
[[[:1iv3 Shn&Ea OUT IN GROSS HDCP | NET a= [[[:1iv3 shin&Ea OUT IN GROSS HDCP | NET a=
151 S5 HEE 58 55 113 30.0 83.0
152 B 24 57 61 118 34.8 83.2
153 4)l| E&EH 57 61 118 33.6 84.4
154 5y ZFE 50 62 112 27.6 84.4
155 KH tH— 58 53 111 26.4 84.6
156 {5 #8—HpB 55 62 117 32.4 84.6
157 = IXA 58 63 121 36.0 85.0
158 5% &% 47 62 109 24.0 85.0
159 & Bt 50 63 113 27.6 85.4
160EE B2 66 58 124 36.0 88.0
161 |18 {08 66 57 123 34.8 88.2
162 || BBE 63 62 125 36.0 89.0
163 x5 KR 66 61 127 36.0 91.0
164 £%% =3 62 66 128 36.0 92.0
165;E:2 = 66 63 129 36.0 93.0
166 —iF FHE 63 62 125 31.2 93.8
167 £ &7 72 60 132 36.0 96.0
168 H T fin, 67 66 133 36.0 97.0
169 T FES 70 64 134 36.0 98.0
170 3 E 1E1E 69 66 135 36.0 99.0
171 5% BAS) 67 68 135 36.0 99.0
172 R E2xH 74 64 138 36.0 102.0




